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EHEESND D EHEESND S EHEEIND D EHEESNB D
iE%@(#Eziﬂ)%éfﬁ o :I:E%'“o)(iazi)])%éb“ o
HERRORM || o00n/m% 12 5K BREAIROE® |1 ookn,/m% 2 B
TDOKRES| +R%E |HOKES tRZE |HOKES 1HE | HDOXKES TFHEE IDOKRES +RZE |HOKES| tHZE |HDOKES| +FHE |HOXKES +FRE
DI >HRK| DEFE |[D36FRK DFE |DI6&K DFE |[D>6&K FE DI b\RRK DEE |D6&K| OEE |D26&K| OEE |O36&K dEE
DEAD) DED DEND) DED DEN)) DEND) DEAD) DEND)
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1~ 2 - - - - - - - - ~
2 ~ 3 - - 78.1 1.0 - - 95 1.9 ~
3 ~ 4 ~
4 ~ 5 - - 78.7 1.0 - - 8.6 1.7 ~
5 ~ 6 - - 78.0 1.0 - - 8.5 1.7 ~
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